Maths Home Learning 7.1.20 due 13.1.20.		Name:_____________________
Revisiting previous learning.
Number Sense:
Partition the following 3 and 4 digit numbers.
(The first one is done for you.)
125= 100 + 20 = 5
805=
7405=
23601=
Additive Reasoning:
	Any number that ends in zero is a multiple of 10. 
The numbers 10, 40, 80 and 90 are all multiples of 10.
What is the next multiple of 10 for the following numbers? 
(For example: If we look at the number 34, the next multiple of 10 is 40.) 

384 (______)     127 (_______)       455 (______)       886 (______)     541 (______)




Show the working out for the following: 
275 + 39 =

6434 + 201 = 

Multiplicative Reasoning:
Show arrays for the following.
4 X 6                                   7 X 3


Complete the missing number problems.
5 X 7 = _____			______ X 4 = 28			36 ÷ _____ = 9 
[bookmark: _GoBack]8 X _____ = 56			9 X ______ = 36			35 ÷ 7 = ______

